BE BHAMEEXBONR

REBH AEBH AEEH AEEH AEEH REEH RMEBH REEH
#ih A E B HE BAHAKE g3 o HE Z0fth BE®) B
FHEEEH U 557 1109 1104, 708 28 86 7 624 e 4223 |#
I8 B 220 570 667 550 19 15 0 323 399 2364 |
I8/ a3 7354 10,668 14,138 17,350 162 315 0 17,908 ok 67,892 |
2 EH 480 00 40 184 00 00 00 24 e 728 ki
I8 158k 00 00 00 00 00 00 00 00 e 00 |km
TKERE TR 25 80 83 43 9 62 0 17 54 319 |
KERE /M 19 482 9% 34 7 158 0 29 e 825 |
KERE B 63 39.9 16 58 00 00 00 00 e 636 |kif
TKERE A 143 14274 6799 3022 1080 83252 00 4942 i 114511 |kn
TKEERIE (GNSS). /Rt #3 3 14 9 4 2 0 0 1 06 33 |
TKEERIE (GNSS)/ 23 7 15 22 6 8 0 0 2 e 60 |
JKEERIE (GNSS)/ B 00 00 00 00 00 00 00 00 e 00 |kib
) BB 00 00 35 00 00 00 00 00 o 35 |kn
14 2 82 1 3 0 0 217 59 351 |#
67,388 761 541 201 29 0 0 1322 ek 70242 |
159 00 00 00 00 00 00 00 ok 159 [kt
00 00 00 00 00 00 00 00 o 00 |kn
) 7 6 0 0 2 0 4 03 19 [#
HIBRIE OKE) /13 0 14 5 0 0 3 0 4 e 26 |m
HIBRE OkE) /B 00 00 00 00 00 00 00 00 e 00 |kib
HIBRIE Ok#E) FERE 00 159.7 179 00 00 20 00 05 i 18041 [km
BitRIE CRIEREER) B H R 19 "3 70 19 0 2 0 10 39 233 |4
RitRIE GBS EER) R 21 23700 63.1 50 00 00 00 09 ok 24410 |k
RtRIE GBS EER) ~BERE 00 00 4433 00 00 00 00 00 i 4434 |kn
L —FRIE TR 0 3 3 0 0 0 0 1 o1 7%
EL—FRIE B 00 04 26 00 00 00 00 00 Fork 30 (ki
L —f RS A 00 00 00 00 00 00 00 00 Ed 00 |km
MMS/ B H 3 2 2 133 0 0 0 0 5 24 142 |4
MMS EH 96.0 3802 105 00 00 00 00 04 ok 4871 |kt
MMS. S8 5900 180 16,269.1 00 00 00 00 235008 [ 403779 |km
UAVEERIE /@8 0 0 1 0 0 0 0 0 00 1|
UAVEERIE B 00 00 o1 00 00 00 00 00 Hork 0.1 ki
UAVE RIS~ fE8 00 00 00 00 00 00 00 00 Hork 00 km
E/VDEE . TEHER 0 0 0 0 0 0 0 0 00 o |#
E/ONEEER 00 00 00 00 00 00 00 00 Hork 00 |kif
E/YOBE 00 00 00 00 00 00 00 00 Hork 00 |km
HF—iF TR 0 0 0 1 0 0 0 0 00 1|
HF—iRF . ER 00 00 00 284 00 00 00 00 Fork 284 ki
HF—BF B 00 00 00 00 00 00 00 00 R 00 km
HIERFE (TO) S BHEH 168 84 36 16 5 7 1 38 60 355 {4
HiERFE (T S ER 26,3630 24,2278 7715 85030 1849.4 5208 o1 78924 e 70,1340 (ki
BlBIEHE (TO2) /B 00 00 00 00 00 2490 00 00 Hork 2490 |k
= TRHER 125 53 15 6 4 0 0 28 39 231 |
RIS EH 18,600.8 20,947.2 4282 4588 5624 00 00 5905.1 Hork 46,9025 |kif
B ETILH [} [} [} 0 0 0 0 0 ok O[EF W
0 ) 0 0 0 0 0 0 00 o[#
00 00 00 00 00 00 00 00 o 00 |kt
00 00 00 00 00 00 00 00 o 00 [kn
REET, 0 0 0 0 0 0 0 0 Hrk O|EF M
HiERE 3% 67 140 o1 45 3 1 3 17 62 367 |4
BIERIE B 4,205.1 18638 2475 1346 822 279 15 8049 Hork 73676 ki
BIERE B8 00 1654 1925 00 00 00 00 00 Hrk 357.9 |km
BIERE (RBBREET) /BHAEHR 7 22 16 8 0 1 1 0 09 55 | ¢
BERE (RBBRET)  EH 3368 384.1 471 123 00 43 ] 00 Hork 7846 (ki
BIERE (RBBRET) /B 00 00 202 00 00 00 00 00 Hork 202 |km
HERE (RAHBREEL) ETLH 0 0 0 0 0 0 0 0 ek O|EF M
BERRBIRIEIL. B 3 0 0 " 2 0 0 0 2 03 15 | ¢
BRI IEIL A 00 00 3439 46.7 00 00 00 00 Hork 3906 (ki
BRI IEIL SR 00 00 16340 00 00 00 00 6518 Hork 22858 |km
BREMIEL  ETILH 0 0 0 0 0 0 0 0 Hrk O|EF M
BEMNETRHEHR 80 18 92 2 0 0 0 22 36 214 |
BEMNE ER 39957 3849 1311 211 00 00 00 454098 Hork 49,9486 |kif
BEMNE B 506.0 00 94885 00 00 00 00 1597.9 o 11,5924 |km
R ERROERME B 3 0 2 1 0 0 0 2 o1 8 |
R RERROEREE BH 166.9 00 255 255 00 00 00 00 Hork 2179 (ki
R RERROEREE /B 00 00 00 00 00 00 00 6518 Hork 6518 |km
I RERROERBE  ETILH 0 0 0 0 0 0 0 0 ek O|EF M
SEMBEER (7Y 50 ENY) /B ES 74 41 4 2 2 1 0 28 26 152 |4
SEMBER (7Y 5VENY) B 138153 15451.6 83.1 26438 1404 43 00 62867 Hrk 384251 |kl
MZEL—FRIE R 0 141 15 78 2 1 3 13 43 253 |4
MEBL—FRIE /"M 0 0 0 0 0 0 0 0 Hork 0 R
MEBL—F RIS EH 00 275113 12266 18,0978 294 16.2 35 69886 ok 538733 |kl
MEBL—FRIE I 00 00 00 00 00 00 00 00 ek 00 [km
HERE TR 25 1 0 0 0 0 0 4 05 30 |4
HERE B 39862 78 00 00 00 00 00 1357 Hork 4,1296 (ki
HhERSE B 00 00 00 00 00 00 00 00 ek 00 [km
REBRIFROERBHER 0 0 0 0 0 0 0 1 00 1|
REHRIFROMEL B 00 00 00 00 00 00 00 36.1 Hork 36.1 ki
R RIEROER M 00 00 00 00 00 00 00 00 ek 00 [km
EL—FRE (= 0 2 6 0 0 0 0 0 o1 8 |
EL—FRIE 00 00 08 00 00 00 00 00 Hork 08 |kib
EL—FHE 00 00 09 00 00 00 00 00 ok 09 [km
0 5 8 0 0 0 0 0 02 13 [
00 03 32 00 00 00 00 00 o 36 [k
00 00 00 00 00 00 00 00 o 00 [km
BRENE TR 4 62 82 39 0 3 0 8 33 198 |4
BRARRIE S RM 0 3 0 0 0 0 0 0 Hork 3R
BRARRIE B 00 23150 04 02 00 00 00 00 Hork 231556 |ki
BRARRIE GEAE 04 478 8817 709 00 04 00 12 ek 10025 |km
ANRE B 0 9 0 0 0 0 0 0 02 9 |
ANRE "B 0 332 0 0 0 0 0 0 ok 332 (@
ANRE B 00 00 00 00 00 00 00 00 Hork 00 |kib
SANIRIE R 00 1921 00 00 00 00 00 00 ek 192.1 |km
FARIE TR 7 15 146 35 1 3 0 20 55 327 |4
AR /M 0 1 0 14 0 0 0 0 Hork
RSB o1 59.5 1149 12 00 06 00 38 Hork 1802
RIS B 00 38 4.1 198 00 00 00 00 ek 217
ZOMOERRIE /&R 13 1 1 10 0 2 0 0 05 27
ZOMDERRE "M 0 0 0 0 0 0 0 0 Hork 0
ZOtOGRREEH 12,001.6 00 00 16 00 00 00 00 Hork 12,0032
ZOMDERRE B 15 02 00 00 00 00 00 00 ek 17
UAVL—HRIE @ #3 1 31 28 3 0 0 0 0 11 63
UAVL—4RIE /& 07 141 120 10 00 00 00 00 Hork 217
00 00 00 00 00 00 00 00 o 00
) 81 0 0 ) ) ) 1 14 82
00 11224 00 00 00 00 00 9100 o 20324
MZBL—FRIE M 00 279 00 00 00 00 00 00 ek 219
ZTOMh B EH 10 2 4 22 0 0 0 8 08 46
ZOHh R 0 0 9 2 0 0 0 0 Hork 1
ZOft B 489 00 45 87 00 00 00 1154 ok 1771
ZDithEEEE 00 02 8945 182 00 00 00 00 ek 9129
“ERETER OB 4K 867 1621 1611 897 50 100 8 710 1000 5924
i RETERR OB H AR (%) 146 274 27.2 15.1 08 17 ] 130 Hork 1000
i/ NEMGEHOFREX (RB) 74,768 12,276 14811 17,607 206 476 0 19,262 ok 139,406
it/ NEMGHOFRE @H) 83689.4 97,0804 35380 300198 26639 574.1 51 74,4920 Hork 2920626
it/ NEMGHOFRE (K 12121 20425 30,530.1 4111 1080 85766 00 26,898.2 ok 69,778.7
BE REMHHOFEE (ETNH) 0 0 0 0 0 0 0 0 ek 0|7
3%2 979 1,895 1,890 1,169 59 108 8 91 ok 7019 |#

X1 TR EF I RUTRIE FEE | REHEECRBSA-HEMHHNONRERM L HHRUFERED S
N2UREHHUE. MEMER OB HAERITHL, SHISFR-BRAUOKNREL; LI HHOEE .
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AZ B/ A= E/ A= E/M A= B/ AZ B/ AEBH AEBH AEBH
ERES & A)IEEDE B BHkE XE B i Zol | &FH® &it B
1% BHAER 6 15 18 15 1 0 0 17 20 72 |#
14k =t 15 68 4 35 7 0 0 29 Hohk 195 | m
1% [t 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 otk 0.0 |k
1% izt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ohok 0.0 |km
2%k BHAER 64 273 315 281 11 4 0 115 | 290 1,063 [#
2%k =t 242 1,079 1,259 1,272 56 13 0 308 Hohk 4229 | =
2%k [t 0.0 0.0 40 0.0 0.0 0.0 0.0 0.0 sohok 40 |kt
2#% izt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ok 0.0 |km
3k [ 105 293 377 313 13 5 0 262 | 373 1,368 [#
3k =t 498 1,823 1,743 2,891 51 27 0 1,156 *okk 8,189 | M
3k ER 0.0 0.0 0.0 18.0 0.0 0.0 0.0 0.0 otk 18.0 |k
3k izt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ohok 0.0 |km
44Kk [ 122 237 283 213 5 9 0 204 | 293 1,073 [#
4#R =t 6,628 7,554 11,468 13,337 77 275 0 15917 sohok 55256 &
4% [t 480 0.0 0.0 0.2 0.0 0.0 0.0 1.5 otk 49.7 |k
4R izt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 sohok 0.0 |km
ot (EHER 9 9 7 7 0 0 0 60 25 92 |#
ot (R 67,359 905 168 16 0 0 0 1,817 Hokk 70,265 | &=
O |EHE 15.9 0.0 0.0 0.2 0.0 0.0 0.0 0.9 sohok 17.0 |k
ZDth | BEEE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 sohok 0.0 |km
B AR 306 827 1,000 829 30 18 0 658 | 100.0 3668 |#
i TEHHEB(%) 8.3 225 273 226 0.8 05 0.0 179 sohok 100.0
i =t 74,742 11,429 14,679 17,551 191 315 0 19,227 sohok 138,134 | &
i i 63.9 0.0 40 18.4 0.0 0.0 0.0 24 otk 88.7 |kni
2 E it 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 otk 0.0 km
K#E X 1#% BHAER 1 1 4 0 0 54 0 6 1741 66 |#
TKEER & 2 1% =¥ 1 0 3 0 0 158 0 22 Hohk 184 |m
TKEERE 2 1% BERE 1.0 185.0 10.0 0.0 0.0 7,875.2 0.0 309.6 okok 8,380.8 |km
TKEER & 2 2%k BHAER 2 23 2 0 2 12 0 1 10.9 2 |4
TKEERIE 2 2#% m¥ 6 67 6 0 0 3 0 0 *ok 82 (&=
TKEERE 2 2#% BERE 82 543.3 6.2 0.0 60.2 382.2 0.0 52.1 okok 1,052.1 |km
TKEERE 2 34 BHER 18 77 82 44 9 0 0 15| 635 245 |
TKEERE 2 3tk =¥ 19 415 114 23 15 0 0 13 Hokk 599 | M
TKEER & 2 3k BERE 66.8 840.6 609.7 287.7 3438 0.0 0.0 132.0 ohok 1,971.5 |km
KEREX2 |44 BHAER 7 4 3 4 0 1 0 1 5.2 20 |
KEREX2 |48k =t 0 29 0 17 0 0 0 0 Hokk 46 | &=
KEREN2 |48 izt 272 18.2 7.7 14.5 0.0 8.7 0.0 1.0 ohok 77.3 |km
TKEER & 2 0t (BEHER 3 0 8 0 1 1 0 0 34 13 [#
TKEER & 2 ot (R 0 0 0 0 0 0 0 0 Hohk 0=
TKEER & 2 ZDth | BEEE 1.1 0.0 67.7 0.0 13.0 61.1 0.0 0.0 ohok 152.9 |km
KEREX2 |7 BHAER 31 105 99 48 12 68 0 23 | 100.0 386 |#
KEREN2 | TEHHEB(%) 8.0 272 256 124 3.1 17.6 0.0 6.0 sohok 100.0
KEREN2 |F m¥ 26 511 123 40 15 161 0 35 Hokk 911 | &
KEREX2 |F izt 114.3 1,587.1 701.3 3022 108.0 8,327.2 0.0 494.7 sokok 11,634.7 |km
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*®—3 SMIEE AHAEXREHEE ASEENOBEERRVEEEONR(ZHEEER - HERIL)
AEEH B =10 AEEH Bl =10 AEEH Bl =1:0) AEEH B =10

BI2IEER HERES #h AIEEE EER BHOKE g3t B e Ot [&F (%)
EhE AR 1/4,00021 £ JE 3 0 0 0 0 0 0.0
EhEEIRE 1/4.0004E ity 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 HHk
EhEHIR 1/8,00021 £ JE 3 0 0 0 0 0 0.0
ZEhEEIRE 1/8,000L4 F ik ] 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ok
EhEHIR 1/12,50021 & JE 3 0 0 0 0 0 0.0
EhEEIRE 1/12,50080 ik ] 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ok
EhEHIR 1/16,00021 £ JE 3 0 0 0 0 0 0.0
ZEhEEIRE 1/16.000LL ik ] 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ok
EhEHIR 1/20,00021 £ JE 3 0 0 0 0 0 0.0
EhEEIRE 1/20.00084E bt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 HHk
EhEHIR 1/20,000K i JE 3 0 0 0 0 0 0.0
ZEhEEIRE 1/20.0005K Jiitid 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 HHk
EhEHIR i EES 0.1~10cm BHEH 45 11 13 1 13 233
EHEEIRE s 3.279.6 1.410.1 286.6 13.8 70.0 0.0 0.1 1,591.8 Hokok
EhEHIR E [EEEE:S 79 30 5 1 0 17 36.7
ZEhEEIRE #h FEIFETE101~15m | EIHE 7.284.1 9,570.6 92.7 1.7 118.0 0.0 0.0 4,447.0 ok
EhEREE #h EEFRTE5.1~200m  |J@ 45 30 7 3 8 282
ZEhEEIRE #h FEIFETk15.1~200m | EIHE 14.158.4 6.791.8 97.8 46.9 1.661.4 373.2 0.0 1.844.4 ok
EhEHIR 3 EEIF %20 1omil £ BH R 2 4 0 0 0 41
ZEhEEIRE b % %20 Tompl b it 1.633.3 754.9 0.0 8.440.7 0.0 1433 0.0 0.0 HHk
EhERE Z0ft JB 3 1 12 10 0 1 3 7.7
EhEEIRE Z it i 1.6 5.700.4 299.8 284 0.0 43 0.0 9.3 HHk
EhEHIR B B HH 4 3 172 87 35 17 5 41 100.0
EhEEIRE b JEE =) 471 2338 9.6 4.7 1.4 19 0.3 1.2 Fhk
ZhEBHRE i i 26,363.0 242278 7768 85314 1,849.4 520.8 0.1 78924 ok

BER1E 50011 T IEELEE: 5 15 51 1 0 8 17.8
il 500LL T mEH 25 11.6 38.1 1.3 0.0 0.0 0.1 8.2 ook
il 500U F B 0.0 0.0 230.9 0.0 0.0 0.0 0.0 651.8 ok
il 1,000LLF JE 3 9 31 66 49 0 5 349
il 1,000L4F i 432 93.6 458.7 62.8 0.0 0.0 1.5 2117 ok
il 1,000LLF izt 0.0 0.0 1.615.8 0.0 0.0 0.0 0.0 0.0 ok
il 2,000ELF EHER 0 0 0 0 0 0.0
il 2,000LLF mEH 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ook
il 2.000LLF ki 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ok
il 2,500LLF JE 3 63 124 9 2 4 439
il 25004 F ik 2,977.8 2,142.7 1339 02 82.2 322 0.0 545.2 ook
il 2,500LLF izt 0.0 165.4 0.0 0.0 0.0 0.0 0.0 0.0 ok
i 5,000ELF EHER 5 0 1 0 2 24
il 5,000LL F it 776.2 0.0 7.7 129.3 0.0 0.0 0.0 39.9 ok
i 5.000LLF B 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 HHk
iR 10,000EL T JE 3 5 0 0 0 0 11
il 10,000L4 i 742.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 Fhk
il 10.000LLF izt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ok
B 20,0001 F BHER 0 0 0 0 0 0.0
e 20,000LLF mEH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ook
i 20.000LLF i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 Hokok
iR 20,000i8 JE 3 0 0 0 0 0 0.0
i 20,000#8 i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ok
e 20,0002 izt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ok
i Z0ft BHER 0 0 0 0 0 0.0
e Z 0t [k 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 ook
=] Z it i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 HHk
e af JeB HH 4 3 87 170 127 55 3 19 [ 100.0
i it B %) 18.6 36.4 272 11.8 0.6 0.4 0.9 41 Fhk
i i [k 4541.9 2,2479 638.4 193.6 82.2 322 1.6 804.9 ook
A it i 0.0 165.4 1,846.7 0.0 0.0 0.0 0.0 651.8 Fohok
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